SRk % 1R

1 EHE R RF 8]
(1) PE D FFAM B YE K OVRFA /5 14
O lFIES: O FEAR L IE & OFEAT 1%
Z Ot A AL
R D 72\ b D - BENEENEIC LD JREA B L T £7°,
@HRENE PE O FATRLE K ONFEAT 5 1%
B AT NS £ 2 ElEZ R L TR Y £,
(2) [ 7 & PE O WATE R 0 J7 1k
OF T i & & e
BRI, #R S ERIEA R L TR0 £,
QMET [ & PE
V7 NUETILERIEEBRA L TEBY £7,
@V — A& PE
U—2EREIL ) — 2 W 2 M HFER & LB A R & T EREZH M L TR £ 7,
(3514 4D FF FARE%E
OIBMAA 1 M4
TRB OB 2 D72, YFEEFERICBIT D EIGREEEF L L THY £7,
(4)Z DO EE R OVERRICE T 2 EE R E
OB BILE DA FHLEE
HEBISEOSFHEIL, BUALRICL > TBY £,

2 FAE K OV I PE D I8UER M OV D ik

(BN 2 H)
® H HIE A AR YA EA SN
FEAR Y PE
BEE A RES 1, 020, 000, 000 — — | 1,020, 000, 000
N 1, 020, 000, 000 — — | 1,020, 000, 000
FEE G PE
RN K B R/ R
(EREFENL 4 50, 000, 000 — — 50, 000, 000
RN K B R/ R
Kl BRI N4 12, 000, 000 — — 12, 000, 000
“FORTTZE Bl B A4 2, 400, 000 — 300, 000 2, 100, 000
P& A A% 235, 000, 000 — — 235, 000, 000
N 299, 400, 000 — 300, 000 299, 100, 000
& &t 1, 319, 400, 000 — 300, 000 | 1,319, 100, 000




3 HAY PE K OVRF 2 PE D MR SE D NRR

(HAT 1)
(5 BFEEIE , _
X w - (O B—IERT | (5 BARKIC
B H IR R %%%ygm BEE I | K5 %)
F& 4 %H)
FEARRPE
P& A lRES 1, 020, 000, 000 (1, 020, 000, 000) —
N Ef 1, 020, 000, 000 (1, 020, 000, 000) —
K E & e
R RN K B Rl
ERERENL S 50, 000, 000 (50, 000, 000) —
VSN = AN
Ll T VA 12, 000, 000 (12, 000, 000) —
PRI FE Bh S 2, 100, 000 (2, 100, 000) —
B A MRES R 235, 000, 000 (235, 000, 000) —
NFE 299, 100, 000 (299, 100, 000) -
& Bt 1, 319, 100, 000 (1, 319, 100, 000) —
4 [5G HE O BUSMAA, WUmE R FHEE L OV Y IR &

(BN 2 H)
£t B e iTEE Rl AT 18 101 52 48 IR
RV R 559, 545, 908 469, 845, 738 89, 700, 170
#ir ELA 432,524, 386 413, 688, 858 18, 835, 528
U — R PE 4,473, 000 894, 600 3, 578, 400

& 2 996, 543, 294 884, 429, 196 112, 114, 098
5 BRSO NERIE TN A3, S W O B iR K Ok 5
(BN 2 H)
e . W =L PPt
A Saf TS | | om0 | % ko
Xy
Bhak 4
BFHERATE) | MEREA
%4 AAREL UHS — | 6,300,000 | 6,300,000 — —
& &t — | 6,300,000 | 6,300,000 — —




ot e, A i 5

1 FEAI PE Ko OVRy 72 ¥ PE D BA

MR T AEZO 2 CEH LB £,

2 512440 B

(BA7 - M)

. o - gy | -

3 { = U HA B8 IN%AE Wi =

£ H AR 5 L HAHE A T = omm YR AR
IBEFG AT 914 4 1, 870, 000 — — 450, 000 1, 420, 000
& Gt 1, 870, 000 - - 450, 000 1, 420, 000




